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FEIZAKE KEHABRBERHREE (LEREEKM)
KR 9:00

KERBREERSTE (B K : BKt)
ew |KEB|EB E| poH |7ohy| BE | &% (| #% | <>
A | X&) =B = mEw | 14> 5o |3
G G E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l

1 {5 22.0 9.9 0.19 7.3

2 & 22.0 10.0| 0.18 7.3

3 = 23.6 10.2 | 0.19 7.3

4 58] 18.0 | 10.1 0.18 1.5

5 {5 23.0 | 10.1 0.18 7.3

6 = 19.0 | 10.2 | 0.20 1.5

Ji = 19.5 10.0 | 0.21 7.3

8 & 18.0 | 10.0 | 0.19 7.3

9 {5 19.0 | 10.1 0.20 7.3

10 & 18.5 | 10.0 | 0.18 1.5

1 {5 22.2 10. 1 0.18 7.3

12 & 2.0 10.0| 0.20 7.3

13 i~ 25.0 | 10.0 | 0.23 7.2 1 50.0| 84.0 121 1.3 | <0.01] <0.02
14 & 23.0 [ 10.1 0.24 7.3

15 {5 23.5 10. 1 0.20 7.3

16 58] 19.0 | 10.2 | 0.21 7.3

17 {5 22.0 | 10.1 0.18 1.5

18 & 22.8 10.2 ] 0.20 1.2

19 [55] 19.8 | 10.2 | 0.20 7.3

20 & 20.0 [ 10.1 0.20 7.2 51.0| 82.0 127 1.3 | <0.01| <0.02
21 = 17.5 10.0 | 0.19 1.2

22 & 19.0 | 10.0| 0.20 1.2

23 {5 20.9 10. 1 0.19 7.3

24 & 23.0( 10.2 ] 0.20 7.4

25 {5 24.8 1 10.2 | 0.22 1.2

26 = 24.5 1 10.3 | 0.22 1.2

21 {5 26.2 10.3 | 0.22 7.3

28 & 23.8 | 10.3 ] 0.23 1.5

29 {5 22.5 10.4 | 0.23 1.2

30 & 23.8 | 10.5 ] 0.23 1.2

31 = 23.5 10.5 | 0.22 7.6
Y 21.17 10. 1 0.20 7.3 ] 50.5| 83.0 124 1.3 | <0.01] <0.02
1= 26.2 | 10.5 | 0.24 7.6 | 51.0| 84.0 127 1.3 | <0.01[ <0.02
=IE 17.5 9.9 0.18 7.2 1 50.0| 82.0 121 1.3 | <0.01] <0.02




